Elevenses

Every number has a relation with the number 11:

9 = 11-2

46 = 11 x 4 + 2

79 = 11 x 7 + 2

13 = 11 x 1 + 2

64 = 11 x 6 – 2

90 = 11 x 8 + 2

2 = 11 + 2

97 = 11 x 9 – 2

25 = 11 x 2 + 3

31 = 11 x 3 – 2

20 = 11 x 2 - 2

22 = 11 x 2

4 = 11 + 4

52 = 11 x 5 – 3

55 = 11 x 5

7 = 11 – 4

We can then group each number, this can be shown like this:
Key: 

(Multiple of 11) - 2

(Multiple of 11) + 2
(Multiple of 11) – 3

(Multiple of 11) + 3

(Multiple of 11) – 4

(Multiple of 11) + 4

(Multiple of 11)

9 = 11-2
64 = 11 x 6 – 2
97 = 11 x 9 – 2
31 = 11 x 3 – 2

20 = 11 x 2 - 2

46 = 11 x 4 + 2

79 = 11 x 7 + 2

13 = 11 x 1 + 2

90 = 11 x 8 + 2

2 = 11 + 2
52 = 11 x 5 – 3
25 = 11 x 2 + 3
7 = 11 – 4
4 = 11 + 4
22 = 11 x 2

55 = 11 x 5
Once you have done this, you can see which numbers go with which to create a multiple of 11.

5 (Multiples of 11) – 2 go with 5 (Multiples of 11) + 2
1 (Multiples of 11) – 3 go with 1 (Multiples of 11) + 3
1 (Multiples of 11) – 4 go with 1 (Multiples of 11) + 4
1 Pair of (Multiples of 11) are multiples of 11

Which gives us:

5 x 5 = 25
1 x 1 = 1

1 x 1 = 1

1 x 1 = 1

From this we can see that there are:

25 pairs of (Multiples of 11) – 2 and (Multiples of 11) + 2
1 pair of (Multiples of 11) – 3 and (Multiples of 11) + 3
1 pair of (Multiples of 11) – 4 and (Multiples of 11) + 4
1 pair of (Multiples of 11)
Therefore the answer is:

25 + 1 + 1 + 1 = 28

28 pairs of numbers which you can add together to get a multiple of 11.
